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Solved Examples

1. What can be said regarding a line if its slope is i. positive ii. zero iii

negative?

° Watch Video Solution

2.Find the slope of a line whose inclination is 150°

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zw4UM5CmHyBV
https://dl.doubtnut.com/l/_mhrSUAX3IEmb
https://dl.doubtnut.com/l/_bu8aSOwZt3Uo

3. Find the inclination of the line having slope (i) —1

° Watch Video Solution

4.Find the inclination of the line having slope (i) — 3

° Watch Video Solution

5.Find the slope of the line through the points (4, — 6)( — 2, — 5)

° Watch Video Solution

6. Show that the line joining (2,-3) and (-5,1) is parallel to the line joining

(7,-1) and (0,3).

° Watch Video Solution



https://dl.doubtnut.com/l/_bu8aSOwZt3Uo
https://dl.doubtnut.com/l/_AGanFy8osyGv
https://dl.doubtnut.com/l/_SkCu18gKSPrY
https://dl.doubtnut.com/l/_9dSMqXYXgKqp

7.Show that the line joining (2, — 3) and ( — 5, 1) is : Perpendicular to

the line joining (4,5) and (0, — 2)

° Watch Video Solution

8. Examine whether the line joining (8, 2) and ( — 5, 3) is parallel to or
perpendicular to or neither parallel nor perpendicular to the line joining

(16, 6) and (3, 15)

° Watch Video Solution

9. Without using the Pythagoras theorem, show that the points (4, 4),

(3,5)and (1, 1)are the vertices of a right angled triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_s0FHVSAPEkzn
https://dl.doubtnut.com/l/_8V23H2uALnf9
https://dl.doubtnut.com/l/_CO9dbyuBeQsP

10. If points (a, 0), (0, b)and (z,y) are collinear, using the concept of

x Y
I that — + — = 1.
slope prove tha a + b

° Watch Video Solution

M. A quadrilateral has the vertices at the points
(—4,2), (2,6), (8,5)and (9, — 7) . Show that the mid points of the

sides of this quadrilateral are the vertices of a parallelogram.

° Watch Video Solution

12. Prove that the line joining the mid-points of the two sides of a triangle

is parallel to the third side.

° Watch Video Solution



https://dl.doubtnut.com/l/_TW2THSWlVrOe
https://dl.doubtnut.com/l/_ApvQxu6aOUlN
https://dl.doubtnut.com/l/_7oqZUDsCcQbC

13.1f A(2,0), B(0, 2)andC(0, 7) are three vertices, thaken in order, of an
isosceles trapezium ABCD in which AB | | DC. find the coordinates of

D.

° Watch Video Solution

14. In Figure, time and distance graph of a linear motion is given. Two
positions of time and distance are recorded as, when T =0, D = 2 and
when T = 3, D = 8. Using die concept of slope, find law of motion, i.e, how

distance depends upon time.

° Watch Video Solution

15. Consider the following population and year graph: find the slope of

the line AB and using it find what will be the population in the year 2010.

° Watch Video Solution



https://dl.doubtnut.com/l/_i7dcSUJP2Yts
https://dl.doubtnut.com/l/_iwQbdlZ7ugub
https://dl.doubtnut.com/l/_GoV3Ess8i3Bi
https://dl.doubtnut.com/l/_cjDf2thRxVH6

16. Find the equation of the line parallel to the y-axis and 3 units to the

right of it.

° Watch Video Solution

17. Find the equation of the line parallel to x-axis and passing through the

point (3, — 4).

° Watch Video Solution

18. Find the equation of the line perpendicular to x-axis and having

intercept -2 on x-axis.

° Watch Video Solution

19. Find the equation of the line which cuts off an intercept —5 on y-axis

and has slope 3

° Watch Video Solution



https://dl.doubtnut.com/l/_cjDf2thRxVH6
https://dl.doubtnut.com/l/_HQeTxycploUU
https://dl.doubtnut.com/l/_IcTtLZ28Pa0a
https://dl.doubtnut.com/l/_04AI7JaV6x59

20. Find the equation of the line which intersects the y-axis at a distance
of 2 units above the origin and makes and angle of 30° with the positive

direction of the x-axis.

° Watch Video Solution

21. Find the equation of the straight line which makes angle of 15° with
the positive direction of c-axis and which cuts and intercepts of length 4

length 4 on the negative direction of Y-axis.

° Watch Video Solution

22.Find eqn of line which cut off an intercept of 4 units on the x- axis and

makes an angle of 30° with positive direction of y- axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_04AI7JaV6x59
https://dl.doubtnut.com/l/_VwHbVie6WCou
https://dl.doubtnut.com/l/_7zHyBdAAfSvy
https://dl.doubtnut.com/l/_Cs2XDF7Fhwus
https://dl.doubtnut.com/l/_OlKUrp6BptR0

23. Find the equation of the line passing through ( — 4, 3) and having

| 1
slope = =

° Watch Video Solution

24.Find the equation of the straight line which passes through the point

(1,2) and makes an angle 6 with the positive direction of x-axis where

1
cosf = — —.

3

° Watch Video Solution

25. A line through the point A(2, 0) which makes an angle of 30° with the
positive direction of x-axis is rotated about A in clockwise direction
through an angle 15°. Find the equation of the straight line in the new

position.

° Watch Video Solution



https://dl.doubtnut.com/l/_OlKUrp6BptR0
https://dl.doubtnut.com/l/_2P7lLkG6nGxB
https://dl.doubtnut.com/l/_B8RsyjKED7Sc
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26. Find the lines through the point (0,2) making angles % and?7r with
the x-axis. Also, find the lines parallel to the cutting the y-axis at a

distance of 2 units below the origin.

° Watch Video Solution

27. The mid-points of the sides of a triangle are
(2,1),( —5,7) and ( — 5, — 5)- Find the equations of the sides of the

triangle.

° Watch Video Solution

28.1f A(1,4), B(2, — 3) and C( — 1, — 2) are the vertices of a AABC.
Find (i) the equation of the median through A (ii) the equation of the

altitude through A. (iii) the right bisector of the side BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gm8pEdpETKxj
https://dl.doubtnut.com/l/_fazfuwEvAjGW
https://dl.doubtnut.com/l/_KZf2xamgF86y
https://dl.doubtnut.com/l/_HmA6ReBI9Mke

29. Find the equation of the perpendicular bisector of the line segment

joining the points (1,1) and (2,3).

° Watch Video Solution

30. Show that the perpendicular drawn from the point (4, 1) on the line

segment joining (6, 5)and(2, — 1) divides it internally in the ratio 8: 5.

° Watch Video Solution

31. One side of a square makes an angle a with x axis and one vertex of
the square is at origin. Prove that the equations of its diagonals are
z(sina + cosa) = y(cos a — sina) or
z(cosa — sina) + y(sina + cos a) = a, where a is the length of the

side of the square.

° Watch Video Solution



https://dl.doubtnut.com/l/_HmA6ReBI9Mke
https://dl.doubtnut.com/l/_odmiptxihZFK
https://dl.doubtnut.com/l/_eSQXWsOkriDq

32.Find the equation of the line joining the points ( — 1, 3)and (4, — 2).

° Watch Video Solution

33.Find the equations to the diagonals of the rectangle the equations of

whose sidesarez = a,z = a’,y = bandy = b’

° Watch Video Solution

34. Find the equation of the internal bisector of angle BAC of the
triangle ABC whose vertices A, B,C are(5,2), (2, 3)and(6,5)

respectively.

° Watch Video Solution

35. A rectangle has two opposite vertices at the points (1, 2) and (5,5). It

these vertices lie on the line x = 3 , find the other vertices of the


https://dl.doubtnut.com/l/_F8ykWaYkTnhL
https://dl.doubtnut.com/l/_Bw1FmZBCLZqe
https://dl.doubtnut.com/l/_esDXfwm85kbM
https://dl.doubtnut.com/l/_kIJP1gEgbl7Y

rectangle.

° Watch Video Solution

36. In what ratio is the line joining the pints (2, 3)and (4, — 5) divided

by the line passing through the points (6,8) and (-3,-2).

° Watch Video Solution

37. Find the coordinates of the vertices of a square inscribed in the
triangle with vertices A(0, 0), B(3, 0)andC(2, 1); given that two of its

vertices are on the side AB.

° Watch Video Solution

38. Find the equation of the straight line which passes through the point

(3, 4) and whose intercept on y-axis is twice that on x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_kIJP1gEgbl7Y
https://dl.doubtnut.com/l/_BSQwvsmSzqho
https://dl.doubtnut.com/l/_VyjhvG7wjySG
https://dl.doubtnut.com/l/_E3NLS2i4vimV

39. A straight line moves so that the sum of the reciprocals of its
intercepts made on axes is constant. Show that the line passes through a

fixed point.

° Watch Video Solution

40. Find the equations of the lines, which cut-off intercepts on the axes

whose sum and product are 1 and — 6, respectively.

° Watch Video Solution

41. Find the equation of the lines which passes through the point (3,4)
and cuts off intercepts from the coordinate axes such that their sum is

14.

° Watch Video Solution



https://dl.doubtnut.com/l/_E3NLS2i4vimV
https://dl.doubtnut.com/l/_ubW7SDRAMDMg
https://dl.doubtnut.com/l/_jaCvLVwqxKMt
https://dl.doubtnut.com/l/_9ECWU67fIYty
https://dl.doubtnut.com/l/_lRjT3kphqj27

42. A line passes through the point (3,-2). Find the locus of the middle

point of the portion the line intercepted between the axes.

° Watch Video Solution

43.Find the equation of the line upon which the length of perpendicular
p from origin and the angle apha made by this perpendicular with the

positive direction of x-axisarep = 5, a = 135°

° Watch Video Solution

44, Sketch roughly the lines satisfying the given conditions and write
their equations:

inclination # = 150°, and distance from the origin = 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_lRjT3kphqj27
https://dl.doubtnut.com/l/_vuD9o6i8a1dQ
https://dl.doubtnut.com/l/_ivgZlEesmqZd

45. Find the equation of the straight line upon which the length of
perpendicular from origin is 34/2 units and this perpendicular makes an

angle of 75° with the positive direction of x-axis.

o Watch Video Solution

46. Find the equation of the straight line upon which the length of the

perpendicular from the origin is 2 and the slope of this perpendicular is

5
12

o Watch Video Solution

47. A straight canal is at a distance of 4% km from a city and the nearest
path from the city to the canal is in the north - east direction . Find
whether a village which is at 3 km north and 4 km east from the city lies
on the canal or not , then on which side of the canal is the village

situated ?

| o WMl \ i dan C Al ikl mn



https://dl.doubtnut.com/l/_jp2XPeo9ODOn
https://dl.doubtnut.com/l/_B4TJWskQaEWf
https://dl.doubtnut.com/l/_jTgEeqbEKO1T
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48. Find the equation of the straight line which makes a triangle of area
96,/3 with the axes and perpendicular from the origin to it makes an

angle of 30° with y-axis.

° Watch Video Solution

49. Find the equation of the line through ( — 2,1) in symmetric form
when the angle made by the line with the positive direction of x-axis is

45°

° Watch Video Solution

50. find the equation of the straight line which passes through the point
3
(3, 2) and whose gradient is Z.ﬁnd the co-ordinate of the points on the

line that are 5 units away from the point (3, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_jTgEeqbEKO1T
https://dl.doubtnut.com/l/_tqxxVoIY2TsH
https://dl.doubtnut.com/l/_2n8zxlId9Ufg
https://dl.doubtnut.com/l/_sjVPSa8rSS3e

51. Find the direction in which a straight line must be drawn through the
point (1, 2) so that its point of intersection with the line z + y = 4 may

be at a distance of 3 units from this point.

° Watch Video Solution

52. Find the coordinatse of the points at a distance 4+/2 units from the
point ( — 2, 3) in the direction making an angle of 45° with the positive

direction of x-axis.

° Watch Video Solution

53. The co-ordinates of the extremities of one diagonal of a square are
(1,1) and (1, — 1) Find the co-ordinates of its other vertices and the

equation of the other diagonal

° Watch Video Solution



https://dl.doubtnut.com/l/_sjVPSa8rSS3e
https://dl.doubtnut.com/l/_5kcDx84rp7TV
https://dl.doubtnut.com/l/_yR68BLgPldJ4
https://dl.doubtnut.com/l/_R4JPspFmJ24B

54.In the given figure, PQR is an euilateral triangle and OSPT is a square.
If OT = 2\/5 units, find the equation of lines OT, OS, SP, QR, PR, and PQ.
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o Watch Video Solution

55.The length L (in centimetre) of a copper rod is a linear function of its

Celsius temperature C. In an experiment, if L = 124. 942 when
C = 20and L= 125.134 when C = 110, express L in
terms of C.

o Watch Video Solution



https://dl.doubtnut.com/l/_GjlCzqSLlSdn
https://dl.doubtnut.com/l/_hKqyLac3VuFC
https://dl.doubtnut.com/l/_11Ti839k0dgs

56. The owner of a milk store finds that, he can sell 980 litres of milk each
week a Rs. 14 /litre and 1220 litres of milk each week at Rs16 /litre.
Assuming a linear relationship between selling price and demand, how

many lire could he sell weekly at Rs17 /litres?

° Watch Video Solution

57. Transform equation /3y — 3z = 3 to the slope intercept form and

also find the angle which straight line makes with the x-axis.

° Watch Video Solution

58.Reduce z + /3y + 4 = O to the:

(ii) Intercept form and find its intercepts on the axes

° Watch Video Solution



https://dl.doubtnut.com/l/_11Ti839k0dgs
https://dl.doubtnut.com/l/_SnAXNbCu40G0
https://dl.doubtnut.com/l/_Gf1AKCVWiLYk

59. Find the point of  intersection of  the line,

—%anndz—kE:l

r
3 2 3

° Watch Video Solution

60. Find the area of the triangle whose sides are:

3r —2y+1=0,3r+y+4=0and 3z —5y+34 =0

° Watch Video Solution

61. The equation of the medians of a triangle formed by the lines

r+y—6=0,z —3y—2=0andbz —3y+2=20Iis

° Watch Video Solution

62. Find the coordinates of the circumcentre of the triangle whose

vertices are (5, 7), (6, 6) and (2, — 2)

| e |


https://dl.doubtnut.com/l/_UbmwO5jTCACi
https://dl.doubtnut.com/l/_mHitCD0CPmfA
https://dl.doubtnut.com/l/_9wL2hEsoBPUf
https://dl.doubtnut.com/l/_LjDoZbB7YrKN

I &J Watch Video Solution

63. Show that the lines
dr+y—9=0,z —2y+ 3 =0, bx — y — 6 = 0 make equal intercepts

on any line of slope 2.

° Watch Video Solution

64. A line is such that its segment between the lines 5x — y 4+ 4 = 0 and

3z + 4y — 4 = 0'is bisected at the point (1,5). Obtain its equation.

° Watch Video Solution

65. Find the coordinates of the orthocentre of the triangle whose vertices

are (0,1),(2, —1) and ( — 1, 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_LjDoZbB7YrKN
https://dl.doubtnut.com/l/_DNLZ8JQWR7aZ
https://dl.doubtnut.com/l/_1aMXNiG4ztIZ
https://dl.doubtnut.com/l/_f07O4zocntqE
https://dl.doubtnut.com/l/_t4l2IpOTtIIp

66. Two vertices of a triangle are (3, — 1l)and( —2,3) and its

orthocentre is at the origin,. Find the coordinates of eth third vertex.

° Watch Video Solution

67. Two consecutive sides of a parallelogram are 4x+5y =0 and 7x + 2y = 0.
If the equation of one diagonal is 11x + 7y=9, find the equation of the

other diagonal.

° Watch Video Solution

68. Prove that the lines
V3T +y=0,3y+z=0, /3z+y=1land3y+z =1 form a

rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_t4l2IpOTtIIp
https://dl.doubtnut.com/l/_GUth6WEPIm8p
https://dl.doubtnut.com/l/_F2ZJwVslwyNn

69. Prove that the straight lines 4x+7y=9, 5x-8y+15=0 and 9x-y+6=0 are

concurrent.

° Watch Video Solution

70. Find the value of p, so that three lines 3z +y=2,px + 2y —3 =0

and 2x — y = 3 are concurrent.

° Watch Video Solution

71. If the lines whose equations are
Yy =miT + ¢,y = Mex + ¢y and y = mgx + c3 meet in a point, then

prove that : mq(cy — ¢3) + ma(c3 — ¢1) + m3(c; —cy) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_kSenyyR05M3D
https://dl.doubtnut.com/l/_3NH7Dzsu7ihi
https://dl.doubtnut.com/l/_roGIWAyARBS1

72. If the lines piz + quy = 1, pox + @y = landpsx + sy = 1, be

concurrent, show that the point (p1, q1), (p2, ¢2)and(ps, g3) are collinear.

° Watch Video Solution

73. The lines 1)

P-—q@z+(@-—r)y+(r—p)=0,2)(g—r)z+(r—py+(p—9q =0,

° Watch Video Solution

74. Prove analytically that the medians of a triangle are concurrent.

° Watch Video Solution

75. Find the angle between the lines y— ,/3z —5 = Oand

V3dy—z+6=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_LJEN7xdIz8kM
https://dl.doubtnut.com/l/_2U9pzXW9ktXC
https://dl.doubtnut.com/l/_dDu5xa0jNaH4
https://dl.doubtnut.com/l/_LJiFXXbVRwWm

76. Find the angle between the lines

x—2y+3=0and 3z +y—1=0.

° Watch Video Solution

77.Find the angle between the lines 3z = 5 and 3x + 5y — 2 = 0.

° Watch Video Solution

78.Find the angle between z + y = 3 and the line joining points (1,1) and

(-3 ’4)

° Watch Video Solution

79. Prove that the points (2,-1), (0,2), (2,3) and (4,0) are the coordinates

other vertices of a parallelogram and find the angle between its


https://dl.doubtnut.com/l/_LJiFXXbVRwWm
https://dl.doubtnut.com/l/_jOAIt2y9zsGn
https://dl.doubtnut.com/l/_PMaEOHB51ZpE
https://dl.doubtnut.com/l/_cYxX67a0Rsxh
https://dl.doubtnut.com/l/_NB3Vfeq3LJ4l

diagonals.

° Watch Video Solution

80. Is the triangle, whose vertices are (5, — 6),(1,2) and ( — 7, — 2), a
right-angled triangle, an acute-angled triangle or an obtuse-angled

triangle?

° Watch Video Solution

81. Prove that that s triangle which has one of the angle as 30° cannot

have all vertices with integral coordinates.

° Watch Video Solution

82. Find the value of &k if the  straight line
20 + 3y + 4+ k(6z —y+12) =0 is perpendicular to the line

Tz + by — 4 = 0.



https://dl.doubtnut.com/l/_NB3Vfeq3LJ4l
https://dl.doubtnut.com/l/_cJAtny4cZHLm
https://dl.doubtnut.com/l/_q3CjPPJmniZh
https://dl.doubtnut.com/l/_to2VNHWTMVCN

| ° Watch Video Solution

83. Examine the following pair of lines are intersecting, parallel,

coincident or perpendicular: z +y+2 =0 and 2z + 2y — 7 =10

° Watch Video Solution

84. Examine the following pair of lines are intersecting, parallel,

coincident or perpendicular: z +y+ 2 =0 and 2z — 3y +5=10

° Watch Video Solution

85. Examine the following pair of lines are intersecting, parallel,

coincident or perpendicular z +y+ 2 =0 and 2z + 2y +4 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_to2VNHWTMVCN
https://dl.doubtnut.com/l/_wL6sZm8FEFGE
https://dl.doubtnut.com/l/_5pI5tJyJi843
https://dl.doubtnut.com/l/_eYcn12AgNDxv

86. Examine the following pair of lines are intersecting, parallel,

coincident or perpendicular2z +y+2=0and z —2y+5=0

° Watch Video Solution

87.1f A(2,0), B(0, 2)andC(0, 7) are three vertices, thaken in order, of an
isosceles trapezium ABCD in which AB | | DC. find the coordinates of

D.

° Watch Video Solution

88. about to only mathematics

° Watch Video Solution

89. A B and C are the points (2, 0), (5,0) and (5, 3) respectively. Find

coordinates of D such that ABCD is a square.

| e |


https://dl.doubtnut.com/l/_O1U9qk2vRhfm
https://dl.doubtnut.com/l/_olJx7nk4M7Fz
https://dl.doubtnut.com/l/_TY6H7KlgavRI
https://dl.doubtnut.com/l/_Vg5W1ctGbsyv

l & Watch Video Solution J

™
90. If the angle between two lines is Zand slope of one of the lines is 2

find the slope of the other line.

° Watch Video Solution

91. Find the slope of the lines which make an angle of 45° with the line

3z —y+5=0.

° Watch Video Solution

92. The line 2z — y = b5 turns about the point on it, whose ordinate and
abscissae are equal through an angle of 45° in the anti-clockwise

direction. Find the equation of the line in the new position.

° Watch Video Solution



https://dl.doubtnut.com/l/_Vg5W1ctGbsyv
https://dl.doubtnut.com/l/_82j1ZzGDD5mt
https://dl.doubtnut.com/l/_D1f8l8XWP9kT
https://dl.doubtnut.com/l/_XMxI1rtyoprV
https://dl.doubtnut.com/l/_kt6Ce43RZSsu

93. Find the equation of the lines through the point (3, 2) which make an

angle of 450owith the line z — 2y = 3.

° Watch Video Solution

94. A vertex of an equilateral triangle is (2,3) and the equation of the
opposite side is x+y=2. Find the equation of the other sides of the

triangle.

° Watch Video Solution

95. Write the formula for the area of the triangle having its vertices at

(21, 1), (z2, ¥o)and (z3, ys3) .

° Watch Video Solution

96. A line 4z + y = 1 through the point A(2, — 7) meets the line BC

whose equation os 3z = 4y + 1 = 0 at the point B Find the equation to


https://dl.doubtnut.com/l/_kt6Ce43RZSsu
https://dl.doubtnut.com/l/_YLEEZMbVIwd3
https://dl.doubtnut.com/l/_Zpsklgwk8liP
https://dl.doubtnut.com/l/_piswVPnWxuHm

the line AC sothat AB = AC.

° Watch Video Solution

97. about to only mathematics

° Watch Video Solution

98. A ray of light is sent along the line z — 2y — 3 = 0 upon reaching the
line 3z — 2y — 5 = 0, the ray is reflected from it. Find the equation of

the line containing the reflected ray.

° Watch Video Solution

99. The equation of the line through (3, 4) and parallel to the line

y=3x +5is

° Watch Video Solution



https://dl.doubtnut.com/l/_piswVPnWxuHm
https://dl.doubtnut.com/l/_ugDFnqeTyZKF
https://dl.doubtnut.com/l/_500Q7JDudmay
https://dl.doubtnut.com/l/_afVc0UEV7Lgh
https://dl.doubtnut.com/l/_y9Sj0O2MvgVI

100. Find the equation of the straight line through (2, 3) and

perpendicular to the line 4z — 3y = 10

° Watch Video Solution

101. The equation of the straight line passing through the point
(a cos® 9, asin® 0) and perpendicular to the line x secf + ycosecd = a
is (A) xcosf — ysind = acos20 (B) zcosf + ysinh = acos 26 (C)

x sinf + ycos § = a cos 260 (D) none of these

° Watch Video Solution

102. Find the equation of a straight line perpendicular to the line

x — 2y + 3 = 0 and having intercept 3 on x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_y9Sj0O2MvgVI
https://dl.doubtnut.com/l/_uJr8DV262vLL
https://dl.doubtnut.com/l/_K72DWjc5oJIS

103. Find the equation of the straight line which has y-intercept equal to

4/3 and is perpendicular to 3z — 4y + 11 = 0.

° Watch Video Solution

104. Find coordinates of the foot of perpendicular, image and equation of

perpendicular drawn from the point (2, 3) to the liney = 3z — 4.

° Watch Video Solution

105. Find the image of the point ( — 8, 12) with respect to line mirror

Az + Ty + 13 = 0.

° Watch Video Solution

106. The equations of two sides of a triangle are

3z — 2y + 6 = 0 and 4z + 5y — 20 and the orthocentre is (1,1). Find the


https://dl.doubtnut.com/l/_ot9DEKye4EH1
https://dl.doubtnut.com/l/_vSpws0XBUfFS
https://dl.doubtnut.com/l/_KWHTcPCZtJWC
https://dl.doubtnut.com/l/_XC1mIybN6Hfp

equation of the third side.

° Watch Video Solution

107. One side of a rectangle lies along the line 4x+7y+5=0. Two of its

vertices are (-3,1) and (1,1). Find the equations of the other three sides.

° Watch Video Solution

108. The equations of perpendicular bisectors o the sides AB and AC of a
triangle ABC are x — y + 5 = 0 and = + 2y = 0 respectively. If the point

Ais (1, — 2), find the equation of the line BC.

° Watch Video Solution

109. Find the equation of the straight line which passes through the
point (2, —2) and the point of intersection of the lines

bx —y =9 and = 4 6y = 8.



https://dl.doubtnut.com/l/_XC1mIybN6Hfp
https://dl.doubtnut.com/l/_NW7llUixizfb
https://dl.doubtnut.com/l/_OTMVyJHDrFSy
https://dl.doubtnut.com/l/_HtmGPdUSnt3E

| ° Watch Video Solution

10. Find the equation of the straight line which passes through the
intersection of the lines  —y—1=0 and 2z —3y+1=0 and

parallel (i) z-axis (ii)y-axis (iii) 3x+4y=14.

° Watch Video Solution

111. Find the equation of the straight line which passes through the point
of intersection of lines 3z —4y — 7 =0 and 12z — 5y — 13 = 0 and is

perpendicular to theline2z — 3y +5 =20

° Watch Video Solution

112. Find the equations of the straight lines passing through the point of
intersection of the lines z+3y+4=0and 3x +y+4=0 and

equally inclined to the axes.

| ° Wiak A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_HtmGPdUSnt3E
https://dl.doubtnut.com/l/_SLPE6kv1n2Om
https://dl.doubtnut.com/l/_N1LiG6RKNPPS
https://dl.doubtnut.com/l/_OmkXjSEqcIZy
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113. Coordinates of the orthocentre of the triangle whose sides are 3x -2y

=6,3x + 4y + 12 = 0 and 3x-8y+12=0 is

° Watch Video Solution

114. about to only mathematics

° Watch Video Solution

115. Show that the straight lines given by z(a + 2b) + y(a + 3b) = a for

different values of a and b pass through a fixed point.

° Watch Video Solution

116. A straight line moves so that the sum of the reciprocals of its

intercepts made on axes is constant. Show that the line passes through a


https://dl.doubtnut.com/l/_OmkXjSEqcIZy
https://dl.doubtnut.com/l/_8AV6UvqB8Yhe
https://dl.doubtnut.com/l/_FMoCuGxkizoB
https://dl.doubtnut.com/l/_7c95upDLSbzQ
https://dl.doubtnut.com/l/_BIdZplkG57yS

fixed point.

° Watch Video Solution

117. Find the position of the points (1,1) and (2, — 1) with respect to

theline 3z + 4y — 6 = 0.

° Watch Video Solution

118. The ratio in which the line segment joining P(zq, y;) and Q(x2, ¥2)

is divided by x-axis is () Y1 : Y2 (b) y1: Y2 (c) 1: x5 (d) T1: x>

° Watch Video Solution

119. Find the distance of the point (4,5) from the straight line

3r —5y+7=0

° Watch Video Solution



https://dl.doubtnut.com/l/_BIdZplkG57yS
https://dl.doubtnut.com/l/_u1PbgCawbThZ
https://dl.doubtnut.com/l/_zM49mud8T9VK
https://dl.doubtnut.com/l/_eXBIlu2ND9Oy
https://dl.doubtnut.com/l/_RIKEESiEHLdQ

120. If the equation of the base of an equilateral triangle is z 4+ y = 2

and the vertexis (2, — 1) then find the length of the side of the triangle.

° Watch Video Solution

121. Find the equation of the straight line which cuts off intercept on X-

axis which is twice that on Y-axis and is at a unit distance from the origin.

° Watch Video Solution

122. If p and q are the lengths of perpendiculars from the origin to the
lines xcos@ — ysinf = kcos20 and xsecf +y cosecd =k

respectively, prove that P’ +4¢° =K.

° Watch Video Solution



https://dl.doubtnut.com/l/_RIKEESiEHLdQ
https://dl.doubtnut.com/l/_reUwNtBQVkAN
https://dl.doubtnut.com/l/_YAnpLraCYqVM

123. If p is the length of perpendicular from the origin to the line whose

1 1 1
intercepts on the axes are a and b, then show that — = — + ﬁ .

P a

° Watch Video Solution

124. Line L has intercepts aandb on the coordinate axes. When the axes

are rotated through a given angle keeping the origin fixed, the same line

, 9 19 5 o 1 1 1 1
L has intercepts pandg Then a® +b" =p” +¢° — + 5 = 5 + —
a b2 2 g
1 1 1

1
2 2 _ 12 2 _

o Watch Video Solution

125. Prove that the length of perpendiculars from points 'P(m”"2,2m) Q
(mn ,m+n) and R(n"2,2n)' to the line z cos? 6 + ysinfcos 0 + sin?0 =0

are in G.P.

o Watch Video Solution



https://dl.doubtnut.com/l/_1EVxsYwbSja2
https://dl.doubtnut.com/l/_EbXpQcvzwqOV
https://dl.doubtnut.com/l/_KJNqed5nJx1f
https://dl.doubtnut.com/l/_OkaiCWYegHmr

126. Find the distance of the point (1,2) from the straight line with slope 5
and passing  through the  point  of intersection of

x+2y=>5andz —3y=1"1.

° Watch Video Solution

127. The vertices of a triangle are A( — 2,1), B(6, — 2) and C(4, 3).

Find the equation of the altitudes of the triangle.

° Watch Video Solution

128. Find the distance between the parallel lines

ax +by+c=0and ax +by+d =0

o Watch Video Solution

129. Prove that the line 12z — 5y — 3 = 0 is mid-parallel to the lines

122 — 5y + 7 =0 and 122 — 5y — 13 = 0.


https://dl.doubtnut.com/l/_OkaiCWYegHmr
https://dl.doubtnut.com/l/_0AamN7EjZYui
https://dl.doubtnut.com/l/_BF2BdW2GcgU9
https://dl.doubtnut.com/l/_aJvF33h1ehzm

° Watch Video Solution

130. The equations of two sides of a square are
3z +4y—5=0 and 3z + 4y — 15 = 0 and (6, 5) is a point on the third

side. Find the equation of the third side and the remaining side.

° Watch Video Solution

131. Prove that the parallelogram formed by the lines

d
£+£:1,£—|—£:1,£+£ :2an—m—|—£:2isarhombus.
a b b a a b b a

° Watch Video Solution
132. Find area parallelogram lines

y=mz,y=mz + 1,y = nr and y = nx + 1 equal to:

° Watch Video Solution



https://dl.doubtnut.com/l/_aJvF33h1ehzm
https://dl.doubtnut.com/l/_w3Crwbyunt7n
https://dl.doubtnut.com/l/_EvHhkc6jnWYo
https://dl.doubtnut.com/l/_UCRKApzIc0Y9

1. What can be said regarding a line if its slope is i. positive ii. zero iii

negative?

° Watch Video Solution

2.Find the slope of a line if its inclination is (7)30°, (i3)135°.

° Watch Video Solution

3. Find the slope of the line whose inclination is : 180°

o Watch Video Solution

4.Find the slope of a line whose inclination is 150°

o Watch Video Solution



https://dl.doubtnut.com/l/_GDoVepxD5FkK
https://dl.doubtnut.com/l/_CgLRrUT8Sq5J
https://dl.doubtnut.com/l/_0bfH1Bp0t1jQ
https://dl.doubtnut.com/l/_ZE77GxfvIrjx

5.Find the slope of line whose inclination is 45°

o Watch Video Solution

6.Find the slope of the line through the points: (6, 3) and (9, 3)

o Watch Video Solution

7.Find the slope of the line through the points: (1, 2) and (4, 2)

o Watch Video Solution

8.Find the slope of the line through the points: (0,9) and ( — 3, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_ZE77GxfvIrjx
https://dl.doubtnut.com/l/_gJ34pZ2w2pBT
https://dl.doubtnut.com/l/_Q4dXga5VTOdI
https://dl.doubtnut.com/l/_dGS3sAecnMVd
https://dl.doubtnut.com/l/_oM6D4AHzKw93

9.Find the slope of the line through the points: (0, —4) and ( — 6, 2)

o Watch Video Solution

10. Find the slope of the line through the points: (3, — 2) and (3, 4)

o Watch Video Solution

11. Find the slope of the line through the points: (3, — 2) and ( — 1, 4)

o Watch Video Solution

12. Find the slope of the line through the points: (3, — 2) and (7, — 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_n7NFinqok4E7
https://dl.doubtnut.com/l/_QtFwPgbfBDWx
https://dl.doubtnut.com/l/_2L3feYRidK9v
https://dl.doubtnut.com/l/_wIGPrHUoNbNr

13. Show that the line joining (5, 6) and (2,3) is parallel to the line through

(9, — 2) and (6, — 5).

° Watch Video Solution

14. Show that the line joining (2,-5) and (-2, 5) is perpendicular to the line

joining (6,3) and (1,1).

° Watch Video Solution

15. Examine whether the two lines in each of the parallel, perpendicular or
neither parallel nor perpendicular : through ( —2,6) and (4,8) ,

through (8,12) and (4, 24".

° Watch Video Solution



https://dl.doubtnut.com/l/_YdjcVTNP4cny
https://dl.doubtnut.com/l/_88XY2fMKxEIc
https://dl.doubtnut.com/l/_5S4nc9IC6WPh

16. State whether the tow lines in each of the following are parallel,

perpendicular or nether: through (9,5) and (-1,1); through (3,-5) and (8,-3)

° Watch Video Solution

17. A(5, — 3), B(8,2), C(0, 0) are the vertices of a triangle. Show that

the median from A is perpendicular to the side BC.

° Watch Video Solution

18. What is the value of y so that the line through (3, y)and (2,7) is

parallel to the line through ( — 1, 4)and (0, 6) ?

° Watch Video Solution

19. Line through the points (-2,6) and (4,80 is perpendicular to the line

through the points (8,12) and (z, 24) Find the value of z.

| e |


https://dl.doubtnut.com/l/_XRYKyqhqoYhL
https://dl.doubtnut.com/l/_HQm5II8fXjyi
https://dl.doubtnut.com/l/_c7jAKvkV5U4s
https://dl.doubtnut.com/l/_fjvWhhb9IPqq

l & Watch Video Solution J

20. Find the value of z for which the points (z — 1), (2, 1)and (4, 5) are

collinear.

° Watch Video Solution

21. Find the slope of the line, which makes an angle of 30°with the

positive direction of Y-axis measured anticlockwise.

° Watch Video Solution

22. Find the slope of the line which passes through the origin and the

mid-point of the line segment joining the points A(0, — 4) and B(8, 0).

° Watch Video Solution



https://dl.doubtnut.com/l/_fjvWhhb9IPqq
https://dl.doubtnut.com/l/_r0iiuFhPfckw
https://dl.doubtnut.com/l/_9j9NlYeSICPn
https://dl.doubtnut.com/l/_0KjxSZkLgptR

23. Find the angle between the X-axis and the line joining the points

(3, —1)and (4, — 2).

° Watch Video Solution

24. A line passes through (z1, y;)and (h, k). If slope of the line is m,

show that k — y; = m(h — x1).

° Watch Video Solution

25. Using slopes, show that thepoints (1, 1), (2, 3) and (3, 5) are collinear.

° Watch Video Solution

26. A(3,4), B( —3,0) and C(7, —4) are the vertices of a triangle.

Show that the line joining the mid-points


https://dl.doubtnut.com/l/_ZVQUGTFxxjYC
https://dl.doubtnut.com/l/_TVoannMqRywy
https://dl.doubtnut.com/l/_bylLMR8aoGIe
https://dl.doubtnut.com/l/_qTgD0D5rzLXh

D(zy,y,), E(xy,y2) and F(z,y) are  collinear.  Prove that

(z —z1)(y2 —v1) = (22 — z1)(y — v1)

° Watch Video Solution

27. By using the concept of slope, show that the points (-2,-10, (4,0), (3,3)

and (-3,2) are the vertices f a parallelogram.

° Watch Video Solution

28. about to only mathematics

° Watch Video Solution

29. Using the concept of slope, prove that medians of an equilateral

triangle are perpendicular to the corresponding sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_qTgD0D5rzLXh
https://dl.doubtnut.com/l/_aUGHXTPBoVIz
https://dl.doubtnut.com/l/_NrzjozBw4iZ1
https://dl.doubtnut.com/l/_IT4G7NghvFS9
https://dl.doubtnut.com/l/_BdPODS7z1WTz

30. Show that the diagonals of a rhombus bisect each other at right

angles.

° Watch Video Solution

31. Write down the equation of the following lines: A line parallel to x-axis

at a distance of 3 units below x-axis.

° Watch Video Solution

32. Find the equation of a line parallel to x-axis and passing through the

origin.

° Watch Video Solution

33.Find the equation of the straight lines which are : parallel to the x-axis

at a distance of 5 units from it

| e |


https://dl.doubtnut.com/l/_BdPODS7z1WTz
https://dl.doubtnut.com/l/_sAIYhnGf2Dxz
https://dl.doubtnut.com/l/_IiqaI9yTEvvm
https://dl.doubtnut.com/l/_z6mbMhKYXT3Z

I & Watch Video Solution ]

34.Find the equation of the straight lines which are : parallel to the y-axis

and at a distance of 4 units from it towards negative side of x-axis.

° Watch Video Solution

35.Find the equations of the straight lines which pass through (4,3) and

are respectively parallel and perpendicular to the x-axis.

° Watch Video Solution

36. Find the equation of the line which is parallel to yl-axis and passes

through the point (3, — 4).

° Watch Video Solution



https://dl.doubtnut.com/l/_z6mbMhKYXT3Z
https://dl.doubtnut.com/l/_00mhJcAvf9AQ
https://dl.doubtnut.com/l/_1qoo8tbs75Bq
https://dl.doubtnut.com/l/_oeXYrfvish4p

37. Find the equation of the line perpendicular to the x-axis and passing

through the point ( — 1,, —1).

° Watch Video Solution

38. Find the equation of the line parallel to x-axis of and having intercept

-2 on y-axis.

° Watch Video Solution

39. Find the equation of the line with slope 3 and y intercept — 2.

° Watch Video Solution

40. Find the equation of the line which cuts off an intercept 7 on y-axis

and has the slope 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_nPMkC3BJKtbu
https://dl.doubtnut.com/l/_yDGB6GzH20Ob
https://dl.doubtnut.com/l/_psDLFV2zdLhB
https://dl.doubtnut.com/l/_JTSvqH01I5Vv

41. Find the equation of the line which makes an angle of 75" with x-axis

and cuts an intercept of length 3 on the positive direction of y-axis.

° Watch Video Solution

42. Find the equation of the straight lines which cut off an intercept 4

from the y-axis and are equally inclined to the axes.

° Watch Video Solution

43. Find the equation of the straight line which cuts off an intercept-5

12
from the y-axis and makes an angle of sin ~* (ﬁ) with the x-axis.

o Watch Video Solution

44. about to only mathematics

[ o |


https://dl.doubtnut.com/l/_JTSvqH01I5Vv
https://dl.doubtnut.com/l/_LQb7P2sXamtH
https://dl.doubtnut.com/l/_jY3sqR71X6p6
https://dl.doubtnut.com/l/_P88pefGnnjXR
https://dl.doubtnut.com/l/_ub7jirkfwYAB

[ W Watch Video Solution J

45.Find the equation of a line which cuts off an intercept 4 on the x-axis

and has the slope 2.

o Watch Video Solution

1
46. Find the equation of the line for which tanf = 3 where 0 is the

3
inclination of the line and i. x-intercept equal to 4. li. y-intercepts is — 7

o Watch Video Solution

47.The perpendicular from the origin to the line y = mx 4 ¢ meets it at

the point ( — 1, 2). Find the value of m and c.

o Watch Video Solution



https://dl.doubtnut.com/l/_ub7jirkfwYAB
https://dl.doubtnut.com/l/_x8NfzenzDDkl
https://dl.doubtnut.com/l/_EJlZRZSkwdDC
https://dl.doubtnut.com/l/_SH43xfUXCh9y

48. The line through the points (h, 3) and (4, 1) intersects the line

7x — 9y — 19 = 0 at right angle. Find the value of A.

° Watch Video Solution

49, Find the values of k for which the line
(k—3)z — (4 — k*)y+ k> — Tk + 6 = Ois(a) Parallel to the xaxis,(b)

Parallel to the y axis,(c) Passing through the origin.

° Watch Video Solution

50. Find the equation of a line through the origin which makes an angle

of 45° with the positive direction of x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rxl1Iyn3z0KZ
https://dl.doubtnut.com/l/_inBvw8Y9PYW0
https://dl.doubtnut.com/l/_SEgH8SSYRwEQ

51. Find the equation of the line through the point ( — 1, 2) and having

slope 4.

o Watch Video Solution

52.Find the equation of the line throught ( — 2, 3) and having slope —4.

o Watch Video Solution

53. Passing through (0, 0) with slope m.

o Watch Video Solution

54. Find the equation of the line passing through ( — 4, 3) and having

I —.
slope 2

o Watch Video Solution



https://dl.doubtnut.com/l/_3LZIHTRUtyuc
https://dl.doubtnut.com/l/_2etKAfHXDoT5
https://dl.doubtnut.com/l/_sYe7uSWWCCOn
https://dl.doubtnut.com/l/_9RNVfwejzvsy
https://dl.doubtnut.com/l/_DZW6mxtSzqKj

55. Find the equation of the line passing through the point (2, 2) and

inclined to x-axis at 45°.

° Watch Video Solution

56. Find the eqution of the line passing through the point ( — 1, — 2)

4
andhaving slope 2

° Watch Video Solution

57. Find the equation of the linepassing through the point (\/5, 2\/5)

2
and having slope 3

° Watch Video Solution

58. Find the equation of the line which satisfy the given conditions :

Intersecting the xaxis at a distance of 3 units to the left of origin with


https://dl.doubtnut.com/l/_DZW6mxtSzqKj
https://dl.doubtnut.com/l/_gQcCwJNtuuk0
https://dl.doubtnut.com/l/_IIowH0otiQXf
https://dl.doubtnut.com/l/_KH1jcCbuJN8H

slope —2.

° Watch Video Solution

59. Find the eqution of a line which passes through the point ( — 2, 3)

and makes an angle of 60° with thepositive direction of x-axis.

° Watch Video Solution

60. Find the equation of the straight line passing through (3,-2) and

making an angle of 60° with the positive direction of y-axis.

° Watch Video Solution

61. Find the eqn of lines which pass through the point (1, 2) and equally

inclined to the co- ordinate axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_KH1jcCbuJN8H
https://dl.doubtnut.com/l/_wuWjGIxdgBFp
https://dl.doubtnut.com/l/_9qwvy24Gtbbl
https://dl.doubtnut.com/l/_qyHpgY3LDeZe
https://dl.doubtnut.com/l/_71tl6V1yslbe

62. Find the equation of the straight line which passes through the point

(1,2) and makes such an angle with the positive direction of x-axis whose
3

sine is — .

5

° Watch Video Solution

63. Find the slope of the line passing through the points (3, 4) and (1, 2).

Also find its equation.

° Watch Video Solution

64. Find the equation of the line passing through (-3,5) and perpendicular

to the line through the points (2,5) and (-3,6).

° Watch Video Solution



https://dl.doubtnut.com/l/_71tl6V1yslbe
https://dl.doubtnut.com/l/_OgzDMZq9cOHO
https://dl.doubtnut.com/l/_MMD3VVO6QsNs

65. Find the equation of the right bisector of the line segment joining eth

points A(1, 0)and B(2, 3)

° Watch Video Solution

66. Find the equation of the right bisector of the line segment joining the

points (3, 4) and (1, 2).

° Watch Video Solution

67. The perpendicular from the origin to a line meets it at the point (-2, 9)

find the equation of the line.

° Watch Video Solution

68. A line perpendicular to the in segment joining the points (1,0) and

(2,3) divides it in the ratio 1: nn . Find the equation of the line.

| e


https://dl.doubtnut.com/l/_MwMpAOBdQAOa
https://dl.doubtnut.com/l/_ZkVu3uDFsvlz
https://dl.doubtnut.com/l/_K1o7VJ6pjHRL
https://dl.doubtnut.com/l/_0OlJfxuAgrz6

I & Watch Video Solution

69. Find the equation of the line through the point (0, 2) making an angle

71'
3 with the positive x-axis. Also find the equation of the line parallel to it

and crossing the y-axis at a distance of 2 units below the origin.

° Watch Video Solution

70. Find the -equation of the linepassing through the point

(2,3) and (5, — 2).

° Watch Video Solution

71. Find the equation of the line passing through the following pair of

points (0, — 3) and (5, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_0OlJfxuAgrz6
https://dl.doubtnut.com/l/_Enwp0Q71l7aA
https://dl.doubtnut.com/l/_M0SyVBUMeULT
https://dl.doubtnut.com/l/_062vET7C55Ig
https://dl.doubtnut.com/l/_yIrVDgB791KC

72. Find the equation of the line passing through the pair of points:

(—1,1) and (2, — 4)

° Watch Video Solution

73. Find the equation of the line passing through the pair of points:

(1, — 1) and (3,5)

° Watch Video Solution

74.Find the equation of the straight line whichpasses throought the two

points : (a, b), (a + rcosa, b+ rsina)

° Watch Video Solution

75.Find the equation of the straight line whichpasses throought the two

points : (at?, 2at;), (at3, 2at,)

° Watch Video Solution



https://dl.doubtnut.com/l/_yIrVDgB791KC
https://dl.doubtnut.com/l/_08DuKOx3zs0g
https://dl.doubtnut.com/l/_iisugFzB6j3r
https://dl.doubtnut.com/l/_0YBbSPAH3PXJ

76. Find the equation of the sides of the triangle whose vertices are

(2,1),(—2,3) and (4, 5)

° Watch Video Solution

77.By using the concept of equation of a line, prove that the three points

(3, 0),(-2, —2)and (8, 2)arecollinear.

° Watch Video Solution

78. The vertices of A PQR are P (2, 1) , @ (2, 3) and

R (4, 5).Find equation of the median through the vertexR.

° Watch Video Solution



https://dl.doubtnut.com/l/_0YBbSPAH3PXJ
https://dl.doubtnut.com/l/_gU9J2DbH3pf0
https://dl.doubtnut.com/l/_DwtZjqXwX0Of
https://dl.doubtnut.com/l/_pPOlQz7A450Y

79. The Fahrenheit temperature F and absolute temperature K satisfy a

linear equation. Given that K = 273 when ' = 32 and that
K = 373 whenF = 212.Express K in terms of F and find the
valueof Fwhen K = 0.

° Watch Video Solution

80. Find the equation of the line whose intercepts on = and y axes are

2 and — 3respectively.

° Watch Video Solution

81. Find the equation of the line, which makes intercepts —3, and 2 on

the z and y — axes respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_2GSOMxtobbw6
https://dl.doubtnut.com/l/_EMRyW8p5PC34
https://dl.doubtnut.com/l/_YwC2Pv9KBeFM

82. Find the equation of the straight line whichpasses through the point

(2, 3) and cuts off equal intercepts on the axes.

° Watch Video Solution

83. Find the equation of the straight line which cuts off equal and positive

intercepts from the axes andpasses through the point (3, 4).

° Watch Video Solution

84. Find the equation of the line which cuts off equal and positive

intercepts from the axes and passes through the point (a, )

° Watch Video Solution

85. Find the equation of the straight line which passes through the point

(2,3) and whose intercept on the x-axis is double that on the y-axis.

| e |


https://dl.doubtnut.com/l/_d8sX7VekVY6M
https://dl.doubtnut.com/l/_46khT3o6wJIP
https://dl.doubtnut.com/l/_ksRmyhnm6MQM
https://dl.doubtnut.com/l/_x5ByPlxE3OjV

I & Watch Video Solution

86. Find the equation of the straight line which passes through the point

(2,3) and whose intercept on the y-axis is thrice that on the x-axis.

° Watch Video Solution

87. Find the equation of the straight line passing through the point (3,

-4) and cutting off intercepts, equal but of opposite signs, from the axis.

° Watch Video Solution

88. A straight line passes through the point («, 8) and this point bisects

the portion of the line intercepted between the axes. Show that the

equation of the straight line is = + Y _ 1.

200 28

° Watch Video Solution



https://dl.doubtnut.com/l/_x5ByPlxE3OjV
https://dl.doubtnut.com/l/_T2rP2huf2z2U
https://dl.doubtnut.com/l/_D7FXpmYweRxM
https://dl.doubtnut.com/l/_0XISbIFXtTvK
https://dl.doubtnut.com/l/_Tis67AqjEROm

89. Find the equation of the straight lines each of which passes through
the point (3, 2) and cuts off intercepts a and b respectively on x and y -

axes such thata — b = 2.

° Watch Video Solution

90. Find the equations to the straight lines which pass through the point

( — 2, 3) and cut the axes at A(a, 0) and B(0, b) so thata + b = 2

° Watch Video Solution

91. Find equation of the line passing through the point (2, 2) and cutting

off intercepts on the axes whose sum is 9.

° Watch Video Solution

92. A straight line passes through the point (3, — 2) and this point

bisects theportion of the line intercepted between the axes, find the


https://dl.doubtnut.com/l/_Tis67AqjEROm
https://dl.doubtnut.com/l/_gNQpCeka1Wyk
https://dl.doubtnut.com/l/_J8RlJMqvGMre
https://dl.doubtnut.com/l/_aK1XoBRyUszk

equation of the line

° Watch Video Solution

93. Point R (h, k) divides a line segment between the axis in the ratio 1: 2.

Find equation of the line.

° Watch Video Solution

94. Find the equation of the line which passes through P(1, — 7) and

meets the axes at AandB respectively so that 4AP — 3BP = 0.

° Watch Video Solution

95. about to only mathematics

° Watch Video Solution



https://dl.doubtnut.com/l/_aK1XoBRyUszk
https://dl.doubtnut.com/l/_DbOlvf3VDGHN
https://dl.doubtnut.com/l/_hQshKE0CKVf6
https://dl.doubtnut.com/l/_nOSsq1FpU6C3

96. For the straight line /3y — 3z = 3, find the intercepts on the x-axis

and y-axis.

° Watch Video Solution

97. Find the equation of the straight line whose intercepts on the axes

are twice the intercepts of the straight line 3z + 4y = 6.

° Watch Video Solution

98. find the equation of the straight line passing through (2,1) and

bisecting the portion of the straight line 3x-5y=15lying between the axes.

° Watch Video Solution

99. Find the equations of the straight lines which pass through the origin

and trisect the portion of the straight line 2z 4 3y = 6 which is


https://dl.doubtnut.com/l/_hrjkjffevPeW
https://dl.doubtnut.com/l/_TNohtnPCWqLO
https://dl.doubtnut.com/l/_vu94W5pgiag1
https://dl.doubtnut.com/l/_rcGwGCyNDBV3

intercepted between the axes.

° Watch Video Solution

100. Show that the three points (5, 1), (1, -1) and (11, 4) lie on a straight
line. Further find

its intercepts on the axes

° Watch Video Solution

101. find the gradient and intercepts on the axes of the straight line

passing through the point (1, — 3) and (4, 5).

° Watch Video Solution

102. Find the equation of the line where the perpendicular distance p of
the line from origin and the angle a made by the perpendicular with x-

axis are given as: p = 3, a = 45"



https://dl.doubtnut.com/l/_rcGwGCyNDBV3
https://dl.doubtnut.com/l/_3wmZMj9PAAG6
https://dl.doubtnut.com/l/_weYjvy4AJX9w
https://dl.doubtnut.com/l/_FMbDqkQCeyVZ

| ° Watch Video Solution

103. Find the equation of the line where the perpendicular distance p of
the line from origin and the angle a made by the perpendicular with x-

axis are given as: p = 1, a90°

° Watch Video Solution

104. Find the equation of the line where the perpendicular distance p of
the line from origin and the angle @ made by the perpendicular with x-

axisaregivenas:p =1, a = 90°

° Watch Video Solution

105. Find the equation of the line where the perpendicular distance p of
the line from origin and the angle a made by the perpendicular with x-

axis are given as: p = 4, a = 15°

| ° Wiak A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_FMbDqkQCeyVZ
https://dl.doubtnut.com/l/_Fk3BGO8KETss
https://dl.doubtnut.com/l/_rKIngF3zYV4T
https://dl.doubtnut.com/l/_Xrwhyh5eugOj
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106. Find the equation of the line which is at a perpendicular distance of 5
units from the origin and the angle made by the perpendicular with the

positive x-axis is 30°.

° Watch Video Solution

107. about to only mathematics

° Watch Video Solution

108. Find the equation of the straight line upon which the length of the
perpendicular from the origin is 2 and this perpendicular makes an angle

of 30° with the positive direction of y-axis (in clockwise direction".

° Watch Video Solution



https://dl.doubtnut.com/l/_Xrwhyh5eugOj
https://dl.doubtnut.com/l/_jzSAVySSpwDW
https://dl.doubtnut.com/l/_ZdE6S4vDVK9k
https://dl.doubtnut.com/l/_ISxHZ79TYODr

109. Find the equation of the line which is at a distance 5 from the origin
and the perpendicular from the origin to the line makes an angle 60° with

thepositive direction of the x-axis.

o Watch Video Solution

10. Find the equation of the straight line upon which the length of the

perpendicular from the origin is band the slope of this perpendicular is
3

4

o Watch Video Solution

111. A straight road is at a distance of 54/2 km from a place. The shortest
distance of the road from the place is in the N.E. direction. Do the
following villages which (i) is 6 km East and 4km North from the place lie
on the road or no, (ii) is 4km East and 3km North from the place, lie on

the road or not?

| o WMl L\ dan C Al ikl n


https://dl.doubtnut.com/l/_7SID0yX3OkFg
https://dl.doubtnut.com/l/_fRtgV5FMA5rX
https://dl.doubtnut.com/l/_IuwxB50vW4ad

L —rvvatlill VIUCU JUViuLivil )

112. Find the co-ordinates of the point at at a distance 6 units from the
point (1,1) in the direction making an angle of 60° with the positive

direction of the £ — axis.

° Watch Video Solution

113. Find the direction in which a straight line must be drawn through the
point (1, 2)so that its point of intersection with the line z + y4may be at

a distance of 3 units from this point.

° Watch Video Solution

114. Find the distance of the line 2z + y = 3 from the point( — 1, — 3)

in the direction of the line whose slope is 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_IuwxB50vW4ad
https://dl.doubtnut.com/l/_I5WfXrLcTBLP
https://dl.doubtnut.com/l/_HusEjZPEE4Bk
https://dl.doubtnut.com/l/_9ODzGsasSWIt
https://dl.doubtnut.com/l/_d8mRjEQhGVjO

115. Find the distance of the line 4z -y = 0 from the point P(4, 1)

measured along the line making an angle of 1350 with the positive xaxis.

° Watch Video Solution

116. The straight line through P(z1, y;) inclined at an angle 6 with the x-

axis meets the lineaxz + by + ¢ = 0 € Q- Find the length of PQ.

° Watch Video Solution

117. about to only mathematics

° Watch Video Solution

118. about to only mathematics

° Watch Video Solution



https://dl.doubtnut.com/l/_d8mRjEQhGVjO
https://dl.doubtnut.com/l/_p6CKavnDoMr2
https://dl.doubtnut.com/l/_yeJqvMcyBc4N
https://dl.doubtnut.com/l/_4EQOBEATduBw
https://dl.doubtnut.com/l/_Mx7uY9zpBywG

119. Find the distance of the line 42 + 7y + 5 = 0 from the point (1, 2)

along theline2z —y = 0.

° Watch Video Solution

120. The co-ordinates of the extremities of one diagonal of a square are
(1,1) and ( — 1, — 1) Find the co-ordinates of its other vertices and the

equation of the other diagonal

° Watch Video Solution

121. AB is a side of a regular hexagon ABCDEF and is of length a with
A as the origin and AB and AFE as the x-axis andy-axis respectively. Find

the equation of lines AC, AF and BE

° Watch Video Solution



https://dl.doubtnut.com/l/_Mx7uY9zpBywG
https://dl.doubtnut.com/l/_dQrVDdwPOmK5
https://dl.doubtnut.com/l/_5FKTXXtfErFj

122. Reduce the following equations into slope-intercept from

Tt+3y—6=20

° Watch Video Solution

123. Reduce the following equations into slope-intercept from

6z +3y—5=0

° Watch Video Solution

124. Reduce the following equations into slope-intercept from (A)

3z +3y=>5

° Watch Video Solution

125. Reduce the following equations into slope-intercept from

2c —4y =5

| e |


https://dl.doubtnut.com/l/_WprrNFyLTHpR
https://dl.doubtnut.com/l/_HwqvAP7HBOAC
https://dl.doubtnut.com/l/_2GxNr6V7WIXE
https://dl.doubtnut.com/l/_9u0t1NfT41qG

| & Watch Video Solution I

126. Reduce each of the following equations into slope-intercept from

y=20

° Watch Video Solution

127. Reduce the following equations into slope intercept form and find
their slopes and the y intercepts.(i) z + 7y = 0, (ii) 6z + 3yb5 = 0, (iii)

y=0.

° Watch Video Solution

128. Reduce the equations to the intercept form 2z — 3y = 5

° Watch Video Solution



https://dl.doubtnut.com/l/_9u0t1NfT41qG
https://dl.doubtnut.com/l/_vUKdrPE9tGTM
https://dl.doubtnut.com/l/_uGf4bCffUJQZ
https://dl.doubtnut.com/l/_FUVuGXSPNLnp

129. Reduce the equations to the intercept form 3z — 4y = 10

° Watch Video Solution

130. Reduce the equations to the intercept form /3y — 3z = 3

° Watch Video Solution

131. Reduce the equations to the intercept form 4z — 3y = 6

° Watch Video Solution

132. Reduce the following equations into intercept form and find their

intercepts on the axes.(i) 3z + 2y12 = 0, (ii) 4= 3y = 6, (iii) 3y + 2 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_396ydgDKHgsX
https://dl.doubtnut.com/l/_0Qh1xFZ4Oq13
https://dl.doubtnut.com/l/_ufCmIkSqNix8
https://dl.doubtnut.com/l/_jXovmsbU890e

133. Reduce the following equations into intercept form and find their

intercepts on the axes.(i) 3z + 2y12 = 0, (ii) 4z3y = 6, (iii) 3y + 2 = 0.

° Watch Video Solution

134. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the line \/3z +y — 8 = 0

° Watch Video Solution

135. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the line4x + 3y — 9 =0

° Watch Video Solution

136. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the line 3z — 4y + 10 = 0

| e |


https://dl.doubtnut.com/l/_mwNMSJqQYqwT
https://dl.doubtnut.com/l/_9peYgu5scDJw
https://dl.doubtnut.com/l/_WNiT3ZMyEUhT
https://dl.doubtnut.com/l/_1vXgVdynZMTK

I &J Watch Video Solution

137. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to thelinez +y —2 =0

° Watch Video Solution

138. Reduce the following equations to the normal form and find p and o

ineachcase:y —2 =10

° Watch Video Solution

139. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to thelinez —4 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_1vXgVdynZMTK
https://dl.doubtnut.com/l/_1cQadT0NJPWR
https://dl.doubtnut.com/l/_3gQqgwCRWf3V
https://dl.doubtnut.com/l/_0yK5Gt3uZgOR

140. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the linez —y = 4

° Watch Video Solution

141. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the linez — /3y +8 = 0

° Watch Video Solution

142. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the line \/3z +y +2 =0

° Watch Video Solution

143. Equation of a line is 3x — 4y + 10 = 0. Find its (i) slope, (ii) x and

yintercepts.

| e |


https://dl.doubtnut.com/l/_AwROunaM52D5
https://dl.doubtnut.com/l/_gcKyvlV2QkPW
https://dl.doubtnut.com/l/_63tfZbub1wpr
https://dl.doubtnut.com/l/_1TWAZHn3JIZO

I 0 Watch Video Solution

144. For the straight line 8 — 15y 4+ 51 = 0, find the length of the
perpendicular from the origin to this line and the inclination of this

perpendicular with the x-axis.

° Watch Video Solution

145. Find the equation of the line joining the points (1, 2) and ( — 3, 1).
Find its inter-cepts on the axes. If p be the length of the perpendicular

from the origin to the line find the value of p.

° Watch Video Solution

146. Find the point of intersection of the lines 2z — 3y + 8 = 0 and

dr + 5y = 6

° Watch Video Solution



https://dl.doubtnut.com/l/_1TWAZHn3JIZO
https://dl.doubtnut.com/l/_VKT4UqnJ2oWN
https://dl.doubtnut.com/l/_F9Ai3nyfx1w1
https://dl.doubtnut.com/l/_QNMJAVk0kecV

147. Find the points of intersection of the following pair of lines:

2r+3y—6=0,3x —2y—6=0

° Watch Video Solution

148. Find the points of intersection of the following pair of lines:

x=02z—-y+3=0

° Watch Video Solution

149. For what value of m the line ma + 2y + 5 = 0 will pass through the

point of intersection of the lines x — 4y = 3 and « + 2y = 0?

° Watch Video Solution

150. Find the point of intersection of lines : yt; = = 4+ at? and

yty = « + at}

| e |


https://dl.doubtnut.com/l/_MaNnFvT28cL9
https://dl.doubtnut.com/l/_fsQX5oxM72CS
https://dl.doubtnut.com/l/_aI6zQ05xBU3V
https://dl.doubtnut.com/l/_Y8KaoiJOz6yA

I & Watch Video Solution

151. If the straight line % + % = 1 passes through the line point of

intersection of the lines £ + y = 3 and 2x — 3y = 1 and is parallel to

x—y—6=0,findaandb.

° Watch Video Solution

152. Find the vertices and the area of the triangle whose sides are

x=19y,y=2r and y = 3z + 4.

° Watch Video Solution

153. The sides of a triangle are given by
xr—2y+9=0,3z +y—22=0and z +5y+2=0. Find the

vertices of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_Y8KaoiJOz6yA
https://dl.doubtnut.com/l/_unFy9pFjm0gZ
https://dl.doubtnut.com/l/_LacCzTDPziPZ
https://dl.doubtnut.com/l/_gX6PbAv7X9HN

154. Find the vertices of the triangle whose sides are
y+2xr=3,4y+zxz=5and 5y+3x =0
° Watch Video Solution
155. Find the area of the triangle formed by the lines
y—z=0,z+y=0andx — k=0.
° Watch Video Solution
156. If m; and m, are the roots of the equation
2+ (V3+2)z+(v/3-1) =0
Show that the ares of the triangle formed by the lines

\/§+\/ﬁ)c2

y:mlm,y:m2wandy=cis( 1

o Watch Video Solution



https://dl.doubtnut.com/l/_Ayli5FjiR4z2
https://dl.doubtnut.com/l/_LUVl1upFBcpk
https://dl.doubtnut.com/l/_dZlnHEVOrTpy

157. Three sides AB, ACandCA of triangle ABC are
bx —3y+2=0,z —3y —2 = 0andxr +y — 6 =0 respectively. Find

the equation of the altitude through the vertex A.

° Watch Video Solution

158. Find the equation of line parallel to the y-axis and drawn through the

point of intersectionof x — 7y + 5 = Oand 3z +y = 0.

° Watch Video Solution

159. Find the equation of the line parallel to y-axis and drawn through the

point of intersection of thelinesx — 7y +5 = 0and 3z + y = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_uSN0GNG0gDDH
https://dl.doubtnut.com/l/_NiBWJ73X5nd8
https://dl.doubtnut.com/l/_07upNIvSz5rF

160. Find the coordinates of the foot of perpendicular from the point

(— 1, 3)to theline3z — 4y — 16 = 0.

° Watch Video Solution

161. Two lines cut on the axis of = intercepts 4 and — 4 and on the axis
of y intercepts 2 and 6 respectively. Find the coordinates of their point of

intersection.

° Watch Video Solution

162. Find the coordinates of the orthocentre of a triangle whose vertices
are (—1,3)(2, —1) and (0,0). [Orthocentre is the point of

concurrency of three altitudes].

° Watch Video Solution



https://dl.doubtnut.com/l/_F19gdRnG99Gc
https://dl.doubtnut.com/l/_QTZ2Sz5kAO6q
https://dl.doubtnut.com/l/_OBpFp45FnlIQ

163. Find the coordinates of the incentre and centroid of the triangle
whose sides have the equations

3r —4y =0,5¢ + 12y = 0 and y — 15 = 0.

° Watch Video Solution

164. Find the coordinats of the incentre of the triangle whose sides are

x =3,y =4 and 4z + 3y = 12. Also find the centroid.

° Watch Video Solution

165. about to only mathematics

° Watch Video Solution

166. Find the circumcentre of the triangle whose vertices are

(-2, —3),(—-1,0), (7, —6).

| e |


https://dl.doubtnut.com/l/_a425LissLc0U
https://dl.doubtnut.com/l/_mlnYqj9jezU2
https://dl.doubtnut.com/l/_nuXZKhu595ZF
https://dl.doubtnut.com/l/_7E1DsxUnLqY9

I &J Watch Video Solution

167. Find the orthocentre of the triangle whose vertices are (0, 0), (6, 1)

and (2, 3).

° Watch Video Solution

168. Two vertices of a triangle are (4, —3) and ( —2,5). If the

orthocentre of the triangle is at (1, 2),then the third vertex is

° Watch Video Solution

169. Find the orthocentre of the triangle the equations of whose sides are

r+y=12x + 3y = 6anddx —y+ 4 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_7E1DsxUnLqY9
https://dl.doubtnut.com/l/_DLVyiRVyNEqL
https://dl.doubtnut.com/l/_D997U6bNGf3M
https://dl.doubtnut.com/l/_gQDrebirLTs6

170. Find if the following lines are concurrent.

5t —3y—4=0,z —5y+7=0,6c — 17Ty +24 =0

° Watch Video Solution

171. Examine whether the following three lines are concurrent or not. If
yes, find the point of concurrenty

2r+3y—4=0,z —5y+7=0,6x — 17Ty +24 =0

° Watch Video Solution

172. For what value of m are the three lines

y=z+1,y=2(x + 1) and y = mz + 3 concurrent ?

° Watch Video Solution



https://dl.doubtnut.com/l/_czwr3GXwrA2m
https://dl.doubtnut.com/l/_gJWJ3i5QMsSa
https://dl.doubtnut.com/l/_N3dSBnCtChXA

173. Find the value of m o) that the lines
3r+y+2=02r—y+3=0and z+my—3=0 may be

concurrent.

° Watch Video Solution

174. Find the value of m for which the lines
mz 4+ (2m 4+ 3)y + m + 6 = Oandmz + (2m + 1)z + (m —6)y+9 =0

intersect at a; point on y — a&s-

° Watch Video Solution

175. Find the value of m o) that lines

y=x+1,2x +y =16 and y = mz — 4 may be concurrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_KgC6p0jBiDTE
https://dl.doubtnut.com/l/_9Io1uc9pnqQS
https://dl.doubtnut.com/l/_w5bPtHy1BqMm

176.If the lines 2z + y—3 = 0,5z + ky —3 = 0and 3z — y — 2 = Oare

concurrent, find the value of k.

° Watch Video Solution

177. If the three lines
ar +a’y+1=0, bz +by=1=0andcz +y+1=0 are

concurrent, show that at least two of three constants a, b, c are equal.

° Watch Video Solution

178. Show that the straight lines
Li=0b+cz+ay+1=0,Ly=(c+a)z+by+1=0nd L3 = (a+1b

are concurrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_aSlMLOSNeMIB
https://dl.doubtnut.com/l/_yUsofSrUWmuf
https://dl.doubtnut.com/l/_zMRf8m6KVJN9

179. Given a tringle with vertices A( — 2,3), B( —4,1) and C(2,5).

Find the equations of the medians.

° Watch Video Solution

180. The coordinates of points A, B and C are (1,2), ( — 2,1) and (0, 6).

Verify if the medians of the triangle ABC are concurrent..

° Watch Video Solution

181. Show that the perpendicular bisectors of the sides of the triangle
with vertices (7, 2), (5, —2) and ( — 1, 0) are concurrent. Also find the

coordinates of the point of concurrence (circumcentre).

° Watch Video Solution



https://dl.doubtnut.com/l/_xtyHgVvvb5Kx
https://dl.doubtnut.com/l/_ncy7OnMD0xz9
https://dl.doubtnut.com/l/_6pN0PcPcy31K

182. Show that the perpendicular bisectors of the sides of a triangle are

concurrent.

° Watch Video Solution

183. Altitudes the perpendiculars drawn from the vertices of a triangle to

the opposite side are known as the altitudes of the triangle.

° Watch Video Solution

184. Find the angle between

x+3y—8=0and 2z —3y+6 =0.

the lines

° Watch Video Solution

185. Find the obtuse angle between the

9r + 3y —4 =0 and 2 +4y+ 5= 0.

straight  lines

| e


https://dl.doubtnut.com/l/_jdKGV8wwi6hR
https://dl.doubtnut.com/l/_ZFiY6R9ZAysr
https://dl.doubtnut.com/l/_EZr5UWuC7iXn
https://dl.doubtnut.com/l/_JBsVMsNhPgfy

| & Watch Video Solution I

186. Find the angle between the lines z = a and by + ¢ = 0.

o Watch Video Solution

187. Find the angle between the lines 3z = 5 and 3z + 5y — 2 = 0.

o Watch Video Solution

188. Find angles between the lines \/3z + y = land z + /3y = 1.

o Watch Video Solution

189. Find the tangent of the angle between the lines which have

intercepts 3,4,and 1,8 on the  and y axes respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_JBsVMsNhPgfy
https://dl.doubtnut.com/l/_d2cwiWED7qHq
https://dl.doubtnut.com/l/_867pGk9qELkq
https://dl.doubtnut.com/l/_oi1rBxsHupt8
https://dl.doubtnut.com/l/_qIwmmS9Z619F

190. Find the tangent of the angle between the lines whose intercepts on

the axes are respectively a,~b and b,-a

° Watch Video Solution

191. Find the angle between the line joining the points (2, 0), (0, 3) and the

linez +y =1

° Watch Video Solution

192. The line through (4, 3) and ( — 6, 0) intersects the line 5z + y = 0.

Find the angles of intersection.

° Watch Video Solution

Z

b

= 1 are perpendicular

193. Prove that the line z + Y =1 and ¥
a b a

to each other.


https://dl.doubtnut.com/l/_qIwmmS9Z619F
https://dl.doubtnut.com/l/_e0POorU4xqJ5
https://dl.doubtnut.com/l/_PyN0vkmf4gkO
https://dl.doubtnut.com/l/_21rQoKFABXOb
https://dl.doubtnut.com/l/_Q76JS2kfOqFo

° Watch Video Solution

194. Show that the line joining (2, — 3) and ( — 1, 2) is perpendicular

to the line joining (3, 7) and ( — 2, 4).

° Watch Video Solution

195. A line passing through the points (a, 2a) and (—2, 3) is

perpendicular to the line 4z + 3y + 5 = 0, find the value of a.

° Watch Video Solution

196. If the vertices of triangle have rational coordinates, then prove that

the triangle cannot be equilateral.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q76JS2kfOqFo
https://dl.doubtnut.com/l/_zhZ8E5KTuWSy
https://dl.doubtnut.com/l/_lBjsuSyC8wID
https://dl.doubtnut.com/l/_b8DwitvDhF7e

197. Prove that the line k*z 4 ky + 1 = 0 is perpendicular to the line

x — ky = 1for all real values of k( # 0).

° Watch Video Solution

198. For what value of k is the line x — y + 2 + k(2z + 3y) = 0 parallel

to the line 3z + y = 0?

° Watch Video Solution

199. Prove that the lines
2 —3y+1=0,z24+y=3,2x —3y=2andx+y=4 form a

parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_WOTbCqlayPJ9
https://dl.doubtnut.com/l/_3S65vNhtBAUX
https://dl.doubtnut.com/l/_7Nx41H62kQvg

200. If £ cos @ + ysinf = 2 is perpendicular to the line x-y =3 then what

is one of the value of 67

° Watch Video Solution

201. If the line z — 3y + 5 + k(xz + y — 3) = 0, is perpendicular to the

linex +y = 1,and k.

° Watch Video Solution

202. The line through the points (h, 3) and (4, 1) intersects the line

7x — 9y — 19 = 0 at right angle. Find the value of A.

° Watch Video Solution

203. Examine which of the pair of lines are intersecting, parallel,

perpendicular or coincident: z —2y+3 =0 and 2x —4y+5=0

| e |


https://dl.doubtnut.com/l/_EO7eG385ZwrE
https://dl.doubtnut.com/l/_1OgQeAmxvtX5
https://dl.doubtnut.com/l/_OzKfj4zXq6Aa
https://dl.doubtnut.com/l/_iwtvkwONxRmy

I & Watch Video Solution

204. Examine which of the pair of lines are intersecting, parallel,

perpendicular or coincident: 2z + 3y + 5 =0 and 4= + 6y + 10 =0

° Watch Video Solution

205. Examine which of the pair of lines are intersecting, parallel,

perpendicular or coincident:z —y+1=0and z+y+2=0

° Watch Video Solution

206. Examine which of the pair of lines are intersecting, parallel,

perpendicular or coincident: z —y+2 =0 and 2z —3y+5=10

° Watch Video Solution



https://dl.doubtnut.com/l/_iwtvkwONxRmy
https://dl.doubtnut.com/l/_L8E7ha6FP0Bs
https://dl.doubtnut.com/l/_tkHX3Yx46RvA
https://dl.doubtnut.com/l/_o6s7irCBWSU7

207. Two lines passing through the point (2, 3) make an angle of 45° I

the slopeof one of the lines is 2, find the slope of the other

° Watch Video Solution

208. Two lines passing through the point (2,3) intersect each other at an

angle 60° . If slope of one line is 2, find the equation of the other line.

° Watch Video Solution

209. Find the slope of the lines which makee an angle of 45° with the line

x—2y=3

° Watch Video Solution

210. Find the equations of the straight lines passing through (2,-10) and

making and angle of 45° with the line 6z + 5y — 8 = 0

| e |


https://dl.doubtnut.com/l/_KWhGsxofCfIU
https://dl.doubtnut.com/l/_hmoD8MSaTD01
https://dl.doubtnut.com/l/_yQjTSJyckWkQ
https://dl.doubtnut.com/l/_odZ6f3hdUGfS

I & Watch Video Solution

211. Find the equation of the legs of a right isosceles triangle if the
equation of its hypotenuse is £ — 2y — 3 = 0 and the vertex of the right

angle is at the point (1, 6),

° Watch Video Solution

212. The hypotenuse f a right isosceles triangle has its ends at the points
(1,3) and (-4,1). Find the equations of the legs (perpendicular sides) of the

triangle.

° Watch Video Solution

213. Find the equation of the straight lines passing through the origins

and making an angle of 45° with the straight line V3T +y =11

° Watch Video Solution



https://dl.doubtnut.com/l/_odZ6f3hdUGfS
https://dl.doubtnut.com/l/_jCGtAa314gey
https://dl.doubtnut.com/l/_TdKYEZyuIu3f
https://dl.doubtnut.com/l/_fdhmtjNjsC7v

214. Find the equation of the two straight lines through (1, 2) forming

the two sides of a square of which 4z + 7y = 12 is one diagonal

° Watch Video Solution

215. A line through the point P(1,2) makes an angle of 60° with the
positive direction of x-axis and is rotated about P in the clockwise
direction through an angle 15°. Find the equation of the straight line in

the new position.

° Watch Video Solution

216. The equation of lines passing through point (x1,y;) and making

angle o with the line y = mz + care given by::

° Watch Video Solution



https://dl.doubtnut.com/l/_z6E7uW78275u
https://dl.doubtnut.com/l/_gDK7WgmEIcN4
https://dl.doubtnut.com/l/_9LGKT30rxKcM

217. Alline x — y + 1 = 0 cuts the y-axis at A. This line is rotated about
A in the clockwise direction through 75°. Find the equation of the line

in the new position

A)By+z=+3B)yz+y=+/3Qz+,7=1D)z+y=1

° Watch Video Solution

218.The slope of a line is double of the slope of another line. If tangents

of the angle between the is find the slopes of the other line.

° Watch Video Solution

219. Find the equations of the lines which pass through the point (4, 5)

and make equal angles with the lines 5x — 12y +- 6 = 0and 3z =4y + 7

° Watch Video Solution



https://dl.doubtnut.com/l/_RSZgU9sfR9Sa
https://dl.doubtnut.com/l/_tcoHjh2JtMTU
https://dl.doubtnut.com/l/_MSL8IIJ1qq9v

220. If the lines y = 3z + 1 and 2y = x + 3 are equally inclined to the

liney = mzx + 4,thenm =

° Watch Video Solution

221. A ray of light passing through the point (1, 2) reflects on the xaxis at
point A and the reflected ray passes through the point (5, 3). Find the

coordinates of A.

° Watch Video Solution

222. Let (2,1),( —3, —2) and (a,b) form a triangle. Show that the
collection of the points (a,b) form a line for which the triangle is

isosceles. Find the equation of that line.

° Watch Video Solution



https://dl.doubtnut.com/l/_NH66Wj7ZD6jg
https://dl.doubtnut.com/l/_KwtotC4ehSr8
https://dl.doubtnut.com/l/_7PIwJnfFHJW9

223. Find the equation of the straight line parallel to  + 2y = 3 and

passing through the point (3, 4).

° Watch Video Solution

224. Find the equation of the line through ( — 2, 3) parallel to the line

3r —4y+2=0

° Watch Video Solution

225. Find the equation of the line through ( — 2, — 1) and parallel to

linex = 0.

° Watch Video Solution

226. Find the equation to the straight line parallel to 3z — 4y +6 =0

and passing through the middle point of the joint of points (2,3), and


https://dl.doubtnut.com/l/_QeHaIxvtABmD
https://dl.doubtnut.com/l/_h7qOI2nLVcmA
https://dl.doubtnut.com/l/_HsBhUVSOuUUp
https://dl.doubtnut.com/l/_LrKuFvPbE8FO

(4,1).

° Watch Video Solution

227. Find the equation to the straight line passing through the point

(2, 1) and parallel to the line joining to point (2, 3) and (3, — 1)

° Watch Video Solution

228. Find the equation of the straight line which passes through the

point («, B) and is parallel to the linelz + my+n =0

° Watch Video Solution

229. Find the equaiton of the line that has y-intercept 4 and is parallel to

theline2x — 3y =T7.

° Watch Video Solution



https://dl.doubtnut.com/l/_LrKuFvPbE8FO
https://dl.doubtnut.com/l/_4QpSp6vY8quh
https://dl.doubtnut.com/l/_MVCuVTowCqh2
https://dl.doubtnut.com/l/_LQwKfJogv3fk
https://dl.doubtnut.com/l/_lFDSOPslRgh4

230. Prow that the line through the point (z; > y;) and parallel to the

line Az + By+ C =0is A(x —z,) + Bly —y;) = 0.

° Watch Video Solution

231. Find the equation of a straight line parallel to 2z + 3y + 11 = 0 and

which is such that the sum of its intercepts on the axes is 15.

° Watch Video Solution

232. Find the equation of the line through point ( —2, —1) and

perpendicular to the liney = =.

° Watch Video Solution

233. Find the equation of the straight line passing through the point

(2, 5) and perpendicular to the line 2z + 5y = 31.

| e |


https://dl.doubtnut.com/l/_lFDSOPslRgh4
https://dl.doubtnut.com/l/_En7b0UD8BQPi
https://dl.doubtnut.com/l/_uZ0wipwZ8hm0
https://dl.doubtnut.com/l/_v7zJFTKnGjZO

I & Watch Video Solution ]

234. Find the equation of a line perpendicular to the linex — 2y +3 =0

and passing through the point (1, — 2).

° Watch Video Solution

235. Find equation of the line perpendicular to the line

x 7y + 5 = 0andhaving x intercept 3.

° Watch Video Solution

236. Find the equation of a line drawn perpendicular to the line

% + % = 1 through the point where it meets the y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_v7zJFTKnGjZO
https://dl.doubtnut.com/l/_JhuGxzleiAhc
https://dl.doubtnut.com/l/_JkDJ07nv59vJ
https://dl.doubtnut.com/l/_rCfOJASHoVEV

237. Find the equation of the straightline perpendicular to the line

Tx + 2y + 7 = 0 and passing through the origin.

° Watch Video Solution

238. Find the equation of the straight line through the point (o, ) and

perpendiculasr to the line lx + my + n = 0.

° Watch Video Solution

239. Find the equation of the straight line through (acos#@, bsinf)

y p—
acos @ bsin @

perpendicular to the line

° Watch Video Solution

240. Find the equation to the line through the point ( — 4, — 3) and

perpendicular to the line joining the points (1, 3) and 2, 7).

| e |


https://dl.doubtnut.com/l/_KIderJnkBdre
https://dl.doubtnut.com/l/_zGQTDowKU0qQ
https://dl.doubtnut.com/l/_Xyu0Yx3LpwZQ
https://dl.doubtnut.com/l/_4ToVB25J1nfR

I & Watch Video Solution

241. Find the equation of the perpendicular bisector of the line segment

joining the origin and the point (4, 6).

° Watch Video Solution

242.The line y = 0 divides the line joining the points (3, -5) and (-4, 7) in

the ratio :

° Watch Video Solution

243. Find the equation of the straight line perpendicular to 2z — 3y = 5

and cutting off an intercept 1 on the positives direction of the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_4ToVB25J1nfR
https://dl.doubtnut.com/l/_ZoVoUMh6dfn4
https://dl.doubtnut.com/l/_646fIVNJoUuK
https://dl.doubtnut.com/l/_uLqKMFm5NJ9b

244.Find the equation of the straight line through (1, y;) perpendicular

to the line joining (z2, ¥2) and (z3, y3).

° Watch Video Solution

245. Find the equation of the line that has y-intercept —3 and is

perpendicular to the line 3z + 5y = 4.

° Watch Video Solution

246. Find the equation of a straight line drawn perpendicular to the line

Z
_+y
a

i 1 through the point where it meets the y-axis.

° Watch Video Solution

247. Find the coordinates of the foot of the perpendicular drawn from the

point (1, — 2) on theliney = 2z + 1.

| e |


https://dl.doubtnut.com/l/_fjILA9o4zmvS
https://dl.doubtnut.com/l/_ZgKBL5X2LBuU
https://dl.doubtnut.com/l/_ncV8g8uP5Rs3
https://dl.doubtnut.com/l/_uvTXVUOpGjoh

| & Watch Video Solution I

248.Find the coordinates of the foot o the perpendicular from the point

(-1,3)to theline3xz —4y — 16 = 0

° Watch Video Solution

249. Find the projection of the point (1,0) on the line joining the points

(-1,2) and (5,4).

° Watch Video Solution

250. Find the image of the point (1, — 2) with respect to the line mirror

2r —y+1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_uvTXVUOpGjoh
https://dl.doubtnut.com/l/_S0FwJaX9j15y
https://dl.doubtnut.com/l/_PM2e8bAKj6Kj
https://dl.doubtnut.com/l/_yCOy4LRSWtcK

251. Find the image of the point (1,2) in the linex — 3y +4 = 0.

° Watch Video Solution

252. Find the image of the point (3,8) with respect to the linexz + 3y =7

assuming the line to be a plane mirror.

° Watch Video Solution

253. about to only mathematics

° Watch Video Solution

254. If (h,r) is the foot of the perpendicular from (zq,y;) to

_ .wl—h_yl—r_l:vl-i—myl—i—n
lr + my +n = 0, prove that : 7 === e

o Watch Video Solution



https://dl.doubtnut.com/l/_jF8874bizijY
https://dl.doubtnut.com/l/_PMk00bc8cQDe
https://dl.doubtnut.com/l/_M9g8pChPsJm6
https://dl.doubtnut.com/l/_3RPcY6G67hRr
https://dl.doubtnut.com/l/_azMLigdEbs6f

255. Find the equation of the straight line passing through the point
(2, —6) and the point of intersection of the lines

5t —2y+14 =0 and 2y = 8 — Tx.

° Watch Video Solution

256. Find the equation of the straight line whichpasses through the point
(1,1) and the point of intersection of the lines

3r+2y=0and z —2y=0

° Watch Video Solution

257. Find the equation of the line through the point of intersection of

z + 2y =5 and = — 3y = 7 and passing through the point (0, — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_azMLigdEbs6f
https://dl.doubtnut.com/l/_hQEuet36F2Nb
https://dl.doubtnut.com/l/_LMEfMOivSTba

258. Find the equation of the line through the intersection of
5c —3y =1 and 2z + 3y — 23 = 0, and perpendicular to the line

whose equationis: z = 0

° Watch Video Solution

259. Find the equation of the line through the intersection of
5c —3y =1 and 2z + 3y — 23 = 0, and perpendicular to the line

whose equationis: y = 0

° Watch Video Solution

260. Find the equation of the line through the intersection of

523y =\ land2z +\ 3y\ 23\ =\ 0and perpendicular to the line

5z\ 3y\ 1\ =\ 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_K1EG1Jp93hET
https://dl.doubtnut.com/l/_g6wNqy0TDQqx
https://dl.doubtnut.com/l/_EdZevnftHJwL
https://dl.doubtnut.com/l/_55HVc0D3TzOP

261. Find the equation of the line through the intersection of lines
x+2y+3=0and 4r+y+7=0 and which is parallel to

5 +4y+20=0

° Watch Video Solution

262. Find the equation of line parallel to the y-axis and drawn through the

point of intersectionof z 7y + 5 = Oand 3z +y7 = 0.

° Watch Video Solution

263. Find the equation to the straight line which passes through the
point of intersection of the straight lines x + 2y = 5 and 3z + 7y = 17

and is perpendicular to the straight line 3z + 4y = 10

° Watch Video Solution



https://dl.doubtnut.com/l/_55HVc0D3TzOP
https://dl.doubtnut.com/l/_D8HSNmtuKbOR
https://dl.doubtnut.com/l/_mRb2vCz3uMzC

264. Find the equation to the straight line drawn through the point of
intersection of z + 2y + 3 = 0 and 3x + 4y + 7 = 0 and perpendicular

toy—z =8.

° Watch Video Solution

265. about to only mathematics

° Watch Video Solution

266. Find the equation of the straight line passing through the point of
intersection of 2z +3y+ 1= 0and3x —5y—5=0 and equally

inclined to the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_g0pafmSYdCfx
https://dl.doubtnut.com/l/_f32Hfbbi8mYs
https://dl.doubtnut.com/l/_BeyiOHAPrNTk

267. Find the equation of the straight line which passes through the
point of intersection of the lines 3z — y = 5 and = + 3y = 1 and makes

equal and positive intercepts on the axes.

° Watch Video Solution

268. The sides AB and AD of a parallelogram ABCD are
2¢ —y+1=0 and « + 3y — 10 = 0 respectively and C is the point

( — 1, — 2).Find the equation of the diagonals AC.

° Watch Video Solution

269. Using integration, find the area of the region bounded by the curve

z? = 4yand the line z = 4y — 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_q3Se3QhasxIB
https://dl.doubtnut.com/l/_FaoMng7TqMZh
https://dl.doubtnut.com/l/_JuJzqAv30OpX

270. Find the equation of the line through the intersection of the lines

2z + 3y + 4 = 0and = + 5y = 7 that has its x-intercept equal to 4.

° Watch Video Solution

271. Find the equation of the line passing through the point of
intersection of the lines 4o — 7Ty — 3 = O and 2z — 3y + 1 = 0 that has

equal intercept to axes.

° Watch Video Solution

272. Prove that the family of lines represented by
z(14+ X)) +y(2—A) +5=0,\ being arbitrary, pass through a fixed

point. Also find the fixed point.

° Watch Video Solution



https://dl.doubtnut.com/l/_FaC3LlRKVXec
https://dl.doubtnut.com/l/_SPb3E3RKfJWH
https://dl.doubtnut.com/l/_PO2Kcgv9APIY

273. Prove that the line z(a + 2b) 4+ y(a — 3b) = a — b passes through a

fixed point for different values of a and b. Also find the fixed point.

° Watch Video Solution

274. Prove that the equation represent a family of lines which pass

through a fixed point. Also find the fixed point : (i)

(vy—Lz+yy=1-3y

° Watch Video Solution

275. Prove that the equation represent a family of lines which pass

through a fixed point. Also find the fixed point : (i) vz + y = 4

° Watch Video Solution



https://dl.doubtnut.com/l/_JVOJQPUM1hbj
https://dl.doubtnut.com/l/_z9nTsrpo7hzK
https://dl.doubtnut.com/l/_qKMVpfLjH9h4

276. Prove that all lines represented by the equation
(2cos8 + 3sinf)x + (3cos@ — 5sinf)y = 5cos § — 2sinf pass

through a fixed point for all § What are the coordinates of this fixed point

?

° Watch Video Solution

277. Examine whether the points (3, — 4) and (2, 6) are on the same or

opposite sides of the line 3z — 4y = 9?

° Watch Video Solution

278. Show that (2,-1) and (1, 1) are an opposite sides of 3z + 4y = 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_3Tl8ukTpSPth
https://dl.doubtnut.com/l/_EYE7UKqJU6DT
https://dl.doubtnut.com/l/_KJsSi39kh1sN

279. Find the position of the points (3,4) and ( — 1, 1) with respect to

thelinebz +y — 1 = 0.

° Watch Video Solution

280. Prove that the points of intersection of the line x — y = 2 with the
parallel lines 2x + y = 7 and 2z + y = 16 are on the opposite sides of

thelinexz +y = 5.

° Watch Video Solution

281. Which one of the points (1, 1), ( — 1,2) and (2, 3) lies on the side

of the line 4z + 3y — 5 = 0 on which the origin lies?

° Watch Video Solution



https://dl.doubtnut.com/l/_J9T7MFtR60YU
https://dl.doubtnut.com/l/_h6WIUto951Dz
https://dl.doubtnut.com/l/_DJZeiJonCBmM

282. Find the length of the perpendicular from the point ( — 3,4) to

theline3z + 4y —5=0

° Watch Video Solution

283. Find the distance of the point (3, 5) from the line

3z 4y 26 =0.

° Watch Video Solution

284. Find the distance of the point P from the line [ in that :

[:12¢ —7=0,P = (3, — 1)

° Watch Video Solution

285. Find the distance of the point P from the line [ in that :

[:12(x + 6) = 5(y — 2) and P-=(-3,-4)'

| e |


https://dl.doubtnut.com/l/_tXKXWM6kjeKo
https://dl.doubtnut.com/l/_9COiXG9e7z0D
https://dl.doubtnut.com/l/_wQqX6VuaERv2
https://dl.doubtnut.com/l/_GpTetus0RFRI

| & Watch Video Solution I

286. Find the distance of the point P from the line [ in that :

Y

T
l;—g—landP:(b,a)

° Watch Video Solution

287. Find the distance of the point P from the line [ in that :

[:12(z +6) =5(y —2) and P=(—1,1)

° Watch Video Solution

288. Find the distance of the point of intersection of the lines

2¢ + 3y = 21 and 3z — 4y + 11 = O from theline8z + 6y +5 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_GpTetus0RFRI
https://dl.doubtnut.com/l/_yRp7SMwmEt6c
https://dl.doubtnut.com/l/_brSa8OysGbUk
https://dl.doubtnut.com/l/_TBllLebeD41J

289. In the triangle ABC with vertices A (2, 3), B (4, -1) and C (1, 2), find the

equation and length of altitude from the vertex A.

° Watch Video Solution

290. What are the points on x-axis whose perpendicular distance from the

linedz + 3y = 12is47?

° Watch Video Solution

291. What are the points on y-axis whose distance from the line

Y

+ 1= 1is4dunits?

r
3

° Watch Video Solution

292. Find the points on y — ats whose perpendicular distance from the

linedr — 3y — 12 =0is 3.

| e |


https://dl.doubtnut.com/l/_tyNNIYAMVHyB
https://dl.doubtnut.com/l/_I3Gph8KOlPOy
https://dl.doubtnut.com/l/_aNKp80yQtVa8
https://dl.doubtnut.com/l/_dfbJK1ECaKpQ

I & Watch Video Solution

293. Find the length of the perpendicular drawn from the origin upon the

line joining the points (a, b) and (b, a)?

° Watch Video Solution

294. Find the length of the perpendicular from the point (4,70 to the
joining the origin and the point of intersection of the lines

2¢ —3y+14=0nddz +4y—7=0

° Watch Video Solution

295. Find the equation of two straight lines which are parallel to

z + Ty + 2 = 0 and at unit distance from the point (1, — 1).

° Watch Video Solution



https://dl.doubtnut.com/l/_dfbJK1ECaKpQ
https://dl.doubtnut.com/l/_EwYk3xSxxW1f
https://dl.doubtnut.com/l/_4WAjwyyCgk3o
https://dl.doubtnut.com/l/_3Nslu2aqo0TF
https://dl.doubtnut.com/l/_4AQ7tGINEvSa

296. Find the equations of lines parallel to 3x-4y-5 = O at a unit distane

from it.

° Watch Video Solution

297. The equations of two lines through (0,a), which are at distance 'a'

units from the point (23, 2a) are

° Watch Video Solution

298. Find the equations of the lines through the point of intersection of
the linesx — 3y + 1 = 0 and 2z + 5y — 9 = 0 and whose distance from

the origin is /5.

° Watch Video Solution

299. Number of straight lines that can be drawn through the point

(1,4, — 1) to intersect the lines LyandL, is O (b) 1(c) 2 (d) infinite



https://dl.doubtnut.com/l/_4AQ7tGINEvSa
https://dl.doubtnut.com/l/_TyVYANvzaDTn
https://dl.doubtnut.com/l/_XccNyROqSxNa
https://dl.doubtnut.com/l/_krPKxRm9FM79

| ° Watch Video Solution

300. If the length of the perpendicular from the point (1, 1) to the line

1 1 1 c
—by+c=0b ity, showthat — + — + — + = —.
ar Y+ c e unity, show tha c+a+b+ 5ab

° Watch Video Solution

301. Find perpendicular distance from the origin of the line joining the

points (cos @, sinf)and (cos ¢, sin ).

° Watch Video Solution

302. If p and q are respectively the perpendiculars from the origin upon
the striaght lines, whose equations are
zsechd + ycosecd = a and z cosh — ysinf = a cos 20, thendp® + ¢° is

equal to

° Watch Video Solution



https://dl.doubtnut.com/l/_krPKxRm9FM79
https://dl.doubtnut.com/l/_LS9RlH85Nknj
https://dl.doubtnut.com/l/_ruSY90cC4o79
https://dl.doubtnut.com/l/_qzfjVuJxcMAD

303. The distance between the lines 4 4+ 3y = 11 and 8x + 6y = 15is

° Watch Video Solution

304. Find the distance between the parallel lines 3z + 4y + 7 = Oand

3z +4y+5=0.

° Watch Video Solution

305. If sum of the perpendicular distances of a variable point P(z, y)from
the lines  +y — 5 = 0and 3x — 2y + 7 = 0 is always 10. Show that P

must move on a line.

° Watch Video Solution

306. Determine the distance between the following pair of parallel lines:

dr — 3y —9=0and4x —3y—24 =0

| e |


https://dl.doubtnut.com/l/_5WGyPqGfTKik
https://dl.doubtnut.com/l/_EOpfrePESlhQ
https://dl.doubtnut.com/l/_Hi7tuNbjaMDe
https://dl.doubtnut.com/l/_8axmNcThwzeW

I & Watch Video Solution

307. Find the distance between parallel lines(i) 152 + 8y — 34 = 0Oand

15z + 8y + 31 = 0(i) I(z +y) + p= 0 and I(z +y) — r = 0.

° Watch Video Solution

308. Find the distance between the parallel lines 3z + 4y + 7 = Oand

3z +4y+5=0.

° Watch Video Solution

309. Find the distance between parallel lines(i) 152 + 8y — 34 = 0Oand

15z + 8y + 31 = 0(i) i(z +y) + p= 0 and I(z +y) — r = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_8axmNcThwzeW
https://dl.doubtnut.com/l/_7hMsko4Mu8OJ
https://dl.doubtnut.com/l/_vo6IeLx7dFY8
https://dl.doubtnut.com/l/_ssv9qwLTlblm

310. Prove that the lines 2z +3y=19and2z +3y+7 =0 are

equidistant from the line 2z 4 3y = 6.

° Watch Video Solution

311. Find the equation of the line midway between the parallel lines

9r + 6y — 7=0and 3z + 2y + 6 = 0.

° Watch Video Solution

312. Find the perpendicular distance between the lines

y=mx +c,y=mze+d

° Watch Video Solution

313. The equations of two sides of a square are

5z — 12y — 65 = 0 and 5 — 12y + 26 = 0. Find the real of the square.

| e |


https://dl.doubtnut.com/l/_cRByQkOTij5X
https://dl.doubtnut.com/l/_YTmsLJyd1X27
https://dl.doubtnut.com/l/_nGTphibmkxng
https://dl.doubtnut.com/l/_6K9W8ausVxsd

I & Watch Video Solution

314. The equations of two sides of a square whose area is 25 square units
are 3z — 4y = 0 and 4x + 3y = 0 . The equations of the other two

sides of the square are

° Watch Video Solution

315. Prove that the diagonals of the parallelogram formed by the lines
V3z+y=0,y3y+z=0,3z+y=1and \/3y+xz=1 are at

right angles.

° Watch Video Solution

316. Prove that the diagonals of the parallelogram formed by the four
lines 3z +y=0,3y+zz=0,3x +y=4,3y+z =4 are at right

angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_6K9W8ausVxsd
https://dl.doubtnut.com/l/_U2ID7ADkdEvV
https://dl.doubtnut.com/l/_ZpfsIiYsRPCg
https://dl.doubtnut.com/l/_TD4XYlAdP3GG

317. The equation of one side of a rectangle is 3z — 4y — 10 = 0 and the
coordinates of two of its vertices are ( — 2,1) and (2, 4). Find the area
of the rectangle and the equation of that diagonal of the rectangle which

passes through the point (2, 4).

° Watch Video Solution

318. Show that the four lines axz + by + ¢ = 0 enclose a rhombus whose

o 2¢2
area is —

|ab|

o Watch Video Solution

319. Prove that the product of the lengths of the perpendiculars drawn
from the points

( az—b2,0> a,nd(— a2—b2,0) to the line %cos 9—|—% sinf = 1

o Watch Video Solution



https://dl.doubtnut.com/l/_TD4XYlAdP3GG
https://dl.doubtnut.com/l/_8njNXZjijGII
https://dl.doubtnut.com/l/_A1t1ahBX72dY
https://dl.doubtnut.com/l/_tw9iEm8wa5Z1



https://dl.doubtnut.com/l/_tw9iEm8wa5Z1

